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A—T]— EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
AN 11 11 11 100.0 11 11 100.0
BEHET 114 52 166 164 101.2 166 164 101.2
EE5; 29 2 5 36 41 87.8 36 41 87.8
A H 110 256 366 407 89.9 366 407 89.9
AN 41 2 5 25 27 100 89| 1124 100 89| 1124
VA 1 45 11 25 2 84 771 109.1 84 77| 109.1
=7 45 4 40 1 4 94 109 86.2 94 109 86.2
=S 18 3 23 7 51 54 94.4 51 54 94.4
H g 9 157 25 176 2 1 370 426 86.9 370 426 86.9
AR 5 1 52 58 66 87.9 58 66 87.9
K4 22 2 456 77 542 7 1,106 1,163 95.1 1,106 1,163 95.1
UDKZ 77 A 5 1 6 12 50.0 6 12 50.0
& D [E] PE 1 1 12 14 17 82.4 14 17 82.4
i) A H 3 102 3 25 4 137 140 97.9 137 140 97.9
&t (E) 129 7 1,039 171 1,179 0 57 17 2,599 2,776 93.6 2,599 2,776 93.6
ATAER A 5 (F) 129 17 1,049 186 1,325 54 16 2,776
W k. E/F %| 100.0 41.2 99.0 91.9 89.0 | #DIV/0! 105.6 106.3 93.6
A A (G) 229 15 1,361 311 1,546 80 54 3,596
Wt E/G% 56.3 46.7 76.3 55.0 76.3 | #DIV/0! 71.3 315 72.3
1LADBORE (H) 129 7 1,039 171 1,179 57 17 2,599
ARG (1) 129 17 1,049 186 1,325 54 16 2,776
F e H/T% 100.0 41.2 99.0 91.9 89.0 | #DIV/0! 105.6 106.3 93.6




